[image: image1.jpg]Vee

D20
l: [ R61 +24V
LA
D4 -D7 47uF L& R62 | €24 % C26
50V 01uF
L F1 F2 s2m quI I X
- 3 000 g >
: R3 Q10
S 3A; 250V TZ20K RE8 IRF1010E|
R4
NTC1 |/|220K c20
N F3 D25
- 3 000 FRIG
ioD-15 T2 D18
12 ok
: B e
1
B1 " s o3 Vour
TER @ K , | =
D1 |
aTw 3 15M 55 58, 113 DI
7
3 1 FR1G] L
Iq-l-m = [ r MBR20100CT R63;21
c | |" D3 | re D17 ==c17 - vee
1,0uF FRIG]™ 36K FR1G 0,68uF
a00v re3l.| [Jres
k2 4 58 10 oo [f3s0
18K 36K 4 ._H_*
S cgo FAN
Kanu6poska
amnepmeTpa
NC a7 Re7
VRa10 Rl 36K
Z T + 2
R7T ! Rz
7] 7| R33 R41
2r2l] NS 6RS pregdEyitid YeTaHOBKa MaKCHManbHOTo
Q5
= BCB57B
(GFW)
+ R54
Veer YcTaHOBKa MaKCMManbHOro ng
R3O & HanpsikeHWs Ha BbIXOAe
Z ha hd Yeunenne curHana
620K R70
VRS [Rze VR1 [Ree VR4 |oTwynTa R47, R48
50K w T 50K
[ |Rzs c2)janry :‘;’; 1 Cy6MoayNnb HacTpoek U KOMMyTaLUu
b /IRs9
620K |Ra4 50
18K . B
CoeguHUTeNb
auncnnes
R1327K] Fs1
L VRer +5V 000 cst
1 5
*
I Tiaeac Roe N TRV * o I
BKTHoseHA BSHTAAATOp ol =l
2 6 01uF
® &
3 7
® &
YcTaHOBKa Toka 4 8
3apAAKN *—o
L 2
VR-1
» | CNs
5 50K
3apsagHoe yCTPOUCTBO NrERE L
Bbanen = 37 %’Il /| Mepeknioyatens
Bepcua nnatel Pennant 30 T = pexumos
VRs1
0068 P 01 p1 34 Rs1 1,
U2 LM324 TR 5on
VRer_ +5V 3, VRrer +5V e 3 0
8 2| n?®
e VRs2
4C Rs2 1-14,8V
7
000 1 51K BOK 0-16V
I-19v





